Practice for Units 6 & 7 Name @
YV

Station 1 - Even and Odd Functions

Read and answer the questions on the back.

A Function can be classified as Even, Odd or Neither. This classification can be
determined graphically or algebraically.

Graphical interpretation -
Even Functions: d Functions:
Have a graph that is Have a graph that is
symmetric with respect symmetric with respect
to the Y-Axis. to the Origin.

Origin ~ if you spin the picture upside down

Y-Axis - acts like a mirror
about the Origin, the graph looks the same!

Algebraic Test— Substitute (~x) in for x everywhere in the function and analyze the
results of f(—x), by comparing it to the original function f(x).

Even Function:  y = f(x) is Even when, for each x in the domain of
f), fi-x)=[f(x)

Odd Function: ¥ = f(x) is Odd when, for each x in the domain of
fx), f(~=x) = ~f(x)

Examples:
a fi=x2+4 b. flx)= 2 ~2x e. fiy=xt-3x+4
fi-x) = (~x)% + 4 f(=x) = (~x)* - 2(~x) Jix) = (~x)? ~3(-x)+ 4
f-x)=x*+4 f(-0)= -3 +2x f-x)=x"+3x+4
f (WI); fx) f(-x)= =(x* -2x) = ~f(x) [f(-x)# f(x) : =f(x)
# oo

Even Function! 0Odd Function! Neither!
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A. Graphically determine whether the following functions are Even, Odd, or Neither

5ymmetric symmenic
0,% + +he clooust e
o
origiN Y-axis

B. Algebraically determine whether the following functions are Even, Odd, or Neither

Lfe) = —x*+4x+2
(%) = (-X) (- FH- )+ 2 ierther

LX) = =R - _Ux+

2. f(x) = —x% +10

_ 2 ever .
I S R
3. fOx) = 23+ 4x dd
| 3 a o
'P(’X>= (’:> +L+C K> -Q(K)zé(hﬁ)
o x3oux

4. fix)= —x*+5x -2
3 -
LRy = - ()PS0 -2
Sy SR
C. If f(x) is an odd, one-to-one function with f(5) = —2 then which point must lie on the graph

of its inverse f~1(x)? o (5, -2 nwerze = Swap
J (-5 Y £ odd | \6‘;)

1) '(5»—2) @ (2,-5) (3) (-52) 4 @5 y

(-2,5)
(71 ‘6.)

viexHie ™



Station Z - Transformations

1 Given the graph of f(x), sketch and the label the
’} graph of the following functions using a different
color for each.

a) g(x) = 2f(x—5)
b) h(x) = —f(2x) + 3
c) k(x) = -;—f(%x) -2

i O\LD
) .4
. )L 2. Iff(x)==x:+10 and g(x}=f(2x)‘ﬂ1en g(-3)=
1 AN 17 - (3) 30
v @)2 (@)
e gt = £(2-2)
N - £(-G)
i é(-(e) = L IO
,: = 4

3. Suppose the point (6,—1) is a point of the graph of f(x). For each of the following, state the
coordinate of the point after the transformation.

a) y = f(3%) (2,-V)
b) y = f(x+2) _{_‘h:ﬁ
¢) y=fx)+5 (o9
6, -3
(7

d) y=1fn-3 (6,-35)

e) y=-4f(x—-1)+2 'Ql
f y=f(-ix)-7 (-1%.-%)



a+ bi

Station 3 - Solving Equations » AN
: st gl TN

1. Solve the equation. Leave answers in simplest a + bi form.

8x2+4x+5=0

XK= =4I (i u(@xsd

2(g)
= —utJTmg LAY
\ lo
2. Solve the equation. Check for extraneous solutions.
Cheex AEZoI= s U
[T -322) [z (2% +3) 2(¥)
-2 -2 7 h
'3 xy2 = Uxei2x ¥t o g
- i _ -
ﬁ/m,/'g’?’('f&\ L2 rilx +77 =0 &
25 f—b(S xi—l\i’{{B

3. Solve the equation. Vi :___\,} /{

3
3(x +3)4 =81

2, 3
5.%/5 L‘/B
Y (2T
CCXJV%))/( 3 check
X4+ 2= &l 3(7e+3)" = €I

(=18 0 seYiEnv




Station 4 - Radicals and Powers of i

1) What is the product of V4a2b* and V164a3b? >

©4ab2 Va2 m

b. 4a’b33a N
c. 8ab?*Va? 't
d. 8a?b3Va
2) Given i is the imaginary unit, (2 — yi)z in simplest form is
2 i v
a. Yy —4yi+4 L 4 >
——y2—4yi+4 4 LM’ Lj(f')
2
C. _y + 4 _ 3’ L‘- :( + L‘
d y*+4 9

3) The expression 3V —18 + 5V —12 is equivalent to
WZHIVIE 3 (303 ) ¢ 5 (203 )4
b.

6v2i + 7V/3i ‘ .
. 19vEi qJa i+ 1od= u
d  —90V6
4) What is the sum of 5 — 3i and the conjugate of 3 + 2i ?/2 (,,ov\:) uso«Le
a. 2+ 5i , /
b, 2 — 5i (5-3a) + (3-24)
8 + 5i :
- A
8 — 5i 5 °
5) Simplify
a) 6i40 - 2i113 . 3223 3-7-&-"—:%‘{.0 ¢) 6i%0 + 20113 + 3223
37{0 N U — .
364(4\0\ : G(J)"—Q‘(J‘)"‘?)(J)
b) 2i(~3i%)3 © +32a-32d
24 (360 - 2 (33737 24 (1)
= 54 (-2
6) State the domain of y =+v2x+ 6 = 5‘_&( (ﬂ} @
Ax+r 20O
le? -(?M
Y 2_ o



7) Simplify. Rationalize the denominator.

yosy5 US| 2Us - 2VeE  (RIE Sdes
Vs U w03

52

8) Simplify completely.

2 {J169x"7 " b) 5x%/18x’
EX (55 ) (3 (R°UF )
IS X *d2 2x

- Xff,_L Ty
2xY NIy =



The discriminant is a small part of the
©  quadratic formula. :

Station 5 - Discriminant

f | . b’ —4dac “
Find the discriminant to determine the number of x-intercepts and the nature of the roots. { )
1. 2x*2-3x+2=0
o-Hac

(-3¥ -w(N2) = -T 2 imagnan), wnequal

Nne x-1nt

2. 3x+7=5x*—4

Sx*-3X (=0
(-D>-y(s) () =229 = read, wrraonad, wnegual

2 x-nt
3. 9x%2424x+16=0 |
(~au) -u@)(16) =0 D real vakoned, equad (

| Xf\t’\‘f

4, x2—-7x+6=0
-7y (V) = 2D D vead, vatlonad, u.c«aqu.a.l

2 x-nt
Challenge:
5.  Find all the values of ¢ such that 2x? — 6x + ¢ = 0 has unequal, imaginary roofs.
2
b -4ac £ O
(-6)? —u4(2)(e) ¢
2 —RBc £ O ¢

c > us



Station 6 - Review

1. Which of the following represents the trinomial 7x2 + 16x — 15 written as a product?
1) (x=5)(7x + 3) 3) (x —3)(7x + 5)
@(x +3)(7x — 5) 4) (x +5)(7x — 3)

2. Which number line below represents the solution set of the inequality x> — x — 6 < 0?

x -3)(x+2)=©
1) 3<x<2 3) x <—-3o0rx=2 ( 3)( )
2) x < —-20rx=>3 —-2<x<3 X=3 x=-2

-2 0 3

3. Find the Inverse of g(x)=2x-3.

a. g"’(x}z%%n} \/’;2%"3
o x+3 K=2y-D
() gt - 22 y
-1 x+2 ti_% ’2—\"
¢ g (=73~ ~ 2
Ty = &
d g (x)—3+2 :
3x+1 -5<x<2
4. For the piecewise function f(x)={-2x-5  2<x<5 o which of the following
x+8 Q\\ —
= 5<x<10 Q(?.j ’1(7_3_5

DL

represents f(2)? -9

@9 | 2) -8 3) -3 4) 1

4
> Evaluate: 32{,1:2“5) = 42

x=2

3 (((23"' ) +<( ) 57 HHD- $)}
3(**4 g U4+ )

2( 1)



